Time & Work

WA AT Pprad

A
v
9.

1
4 CLASS WORK P

S men can do a work in 6 days and 10 women
can do the same work in 5 days. In how many
days the work is done by 5 women and 3 men?

5 T&9 Rt &M 1 6 fa7 H T R TRd ¥ | 9@ 10
afgemt 39 5 &7 o 90w whdl € | 5 Bfeard 9en 3 7o

TRt 39 & &I fRan fo & qu wia—
(A) 10 days/ &= (B) 8 days/ &=
(C) 6 days/ &= (D) 5 days/ f&a

If 3 man and 5 woman can complete a work in
8 days while 2 man and 7 children can com-
plete a work in 12 days. Then how many
women can do same work a day which is done

by 21 children?

IfE 3 oW 7R 5 Al Th FW H 8 &7 H X Tohd E,
eIt 2 7o iR 7.9 SHt Rl 12 A B a awa &,
Terat Afeed e fo § Sam s w2, TS 21 o=
T ?

(A) 12 (B) 15 (©) 10 (D) 20

3 men and 4 women together can earn ¥ 3,780
in 7 days, 11 men and 13 women can earn

15,040 in 8 days in how many days can 7
men and 9 women earn I 12,400 ?

3 7&9 iR 4 Hfge® faoe 7 fedi & T 3,780 s1fsfd &
AT, 11 TR0 iR 13 Afead 8 feAi § 3 15,040 s1fsa
TR €, 7 o0 3iR 9 Aigw ¥ 12,400 forem fe i o
sAfSfa T ?

(A) 8 days/fea

(B) 12 days/f&a

(C) 10 days/fea

(D) 11 days/fea

2 men and 4 boys can complete a work in 10
days where 4 men and 5 boys can complete it
in 6 days. The man and the boy get their wages
according to their work. Accordingly, if wages
of one man a day is ¥ 40 then what will be the
ratio of one day wages of man and boy?

3 760 31K 4 TS Th @E 10 &A1 H o Topal & ek 4
TR 3R 5 TTSh SH 6 T H T © 157 goul sl el
I TGl STk 1 FuIE o STgHR < St &1 e, Atk
Toh I T iR el T 40 B, T ge SR Uk g

1 <f1e HoTdt T ST AT & ?
(A) 7 : 4 B)7:3
(€)5:3 D) 5: 2

1 man, 3 women and 4 boys can complete a
work in 96 hours. 2 men and 8 boys can do it
in 80 hours. 2 men and 3 women can do it in
120 hours. In how many days 5 men and 12

boys can complete the work?

T STIGHI, 3 S 1R 4 TS Uk IH 1 96 F121 | L Tk
F 12 et oiit 8 orge W 80 S H F wHa € | 2 o1t
37T 3 3T SH B hT 120 Ff H HL TR § | 5 3TEHT TR

12 TS 39 1 1 fofaq fea & =i 2
9 7 43
(&) 437 (B) 4377 (O (D) 47

4 man can do same work as 6 woman and
work of 9 woman is equal to work of 12 boys.
8 man and 6 woman complete the work in 15
days working 8 hour a day. 2 man, 3 woman
and 4 children together can complete the work
in how many days working 6 hours a day?

4 I%HT 1 T 6 Afeae % seR & 9o 9 Afewnedt %1
12 TTGehT % HTH % TR 2 | 8 T8 421 6 At foheft s
%! 8 He ufafed ek 15 faf & T = € 1 2 o, 3
HEeATd el 4 w7 Tierent fohe T H S o ol wo e i

TR 3 6 S FafeT A T § 2
(A) 32 (B) 40
(C) 36 (D) 28

The work done by woman in 8 hours is equal
to the work done by 1 man for 6 hours and 1
boy for 12 hours. If 9 man working 6 hour a
day can complete the work in 6 days then in
how many days working 8 hours a day 12 man,
12 woman and 12 boys can complete the
work?
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10.

Mother's (IO« a9d 3R BrRf

Tk S g 8 S H foran T i, U eTeHl % 6 He qen
T 9Tk o 12 5121 o [ & SUe ¢ | 91E 9 STt foret
T o HfdfeT 6 S 1 ek 6 ol & Tmm W Ihd €,
yfafes 8 = s ek 12 STaHl, 12 oRa iR 12 aers

39 % I foha Tl # qua et ?
A)13 day/f (B)33 day/f
(C) 3 day/feH (D) 1 day/fea

Works W, and W, are done by two persons A
and B. A takes 80% more time to do the work
W, alone than he takes to do it together with
B. How much percent more time B will take to
do the work W, alone than he takes to do it
together with A ?

W, e W, %l <1 Aol sheel: A e B % G fohal Sird
FIA, W, ®l 0 H A 721 B 5 faere ferdt ) v
B 80% 1k T A | T I FIH B STRen W,
FHH A % Y e W, s #0 § fod ™ 593 |
fopae ufcrsTa e1feres Tw=r rm 2
(A) 100%

(C) 125%

(D) can not be determined,; f#iRa =T fehan S
Hepdl

(B) 120%

25 men and 15 women can complete the work
in 12 days. They started working together and
after 8 days, all women left the work. Now 25
men complete the remaining work in 6 days.
Find the time required to complete the work
by 15 women ?

25 =fer 3L 15 S T & 12 fodl H [0 s g T
3 Hofl Tk W1 R S Y B © SR 8 el ak
L % A8 SR I AT T8 FL A ¢ | 379 25 =G A
1 6 fe & QU R AT | s T HH B hae 15 oiRd et
Bl 4l 9% %M fohad fedl § wem B ?

(A) 36 days/fea (B) 88 days/fcH

(C) 94 days/fea (D) None of these

12 children can complete the work in 16 days,
whereas 8 adults take 12 days to complete
the same work. This work is started by 16
adults and after 3 days. 10 adults left the work,
and, 4 children joined the work in how many
days the remaining work get complete?

11.

12,

13.

12 o= Tk @ H QW EE H 16 67 7 €, afE Tt
w1 8 TRl g 12 feAi # o S wepan # | S5 6 a0t
16 Rl A oY foran oiR 3 fefi o, 10 99w <@
BIEH T T | T 4 =, SHH TMHA &1 T3 | TEIHR, 3H
HEh! I T U R H e fed ol ?

(A) 12 days/fA (B) 15 days/feH

(C) 6 days/fea (D) 9 days/fea

15 women can do a piece of work in 12 days
while 16 men can do the same work in 10
days. All men and all women work alternately

starting with all men, then find the time taken
by them to complete the whole/ work?

15 iR 1 =@ &1 12 fo7 # g0 o TeRdt & | T9fF 16
st 36t v ot 10 T & g0 v Tehd € | Tl Sfe 3T
Tt oied U oA SIS T fod i #itd 2 S et e
T B R, GG B o A T e i 2

(A) 10% days / T3 (B) 10% days / T

(C) 10% days / fe7 (D) 12% days / f&a

12 man complete the work in 4 days and 15
woman complete the same work in 4 days. 6
man started the work and after 2 days all
stoped the work. How many woman are to be
employed so that the remaining work get com-
pleted in 3 days?

12 7% e = 4 &7 5 qen 15 Afead sad S Fm
4 Tt & T R € 1 6 o A R I TR oY 2 T
A T HA S H T | ot gt s s
S efed fom 9 R 3 A | T B . 2

(A) 20 (B) 12 (C) 15 (D) 18

2 man, 3 woman and 4 children together can
plough 10 hectare of land in 10 days. The ra-
tio of efficiency is 5 : 4 : 2. In how much time 6
man, 4 woman and 7 children take to plough

16 hectare of land?
2 STEH, 3 Higemd qen 4 5= faeree feeft 10 ¥R & @a
=i R 10 T o &ea € 1 9% T oTee, we Afeen ww I
T FEGHAT S : 4 ¢ 2 % ST A &1 a1 6 TS, 4 wfgemd
o 7 7 THeAt 16 THRAR SAhel o Uk Bd i RS foham
T H T ?

(A) 5 day/feT
(C) 7 day/f&=

(B) 6 day/fca
(D) 8 day/fea
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14.

15.

16.

17.

Mother's Arithmetic ¢ Time & Work

The total number of man, woman and Chil-
dren in a factory is 18. They get Rs. 4000 for a
day. If the ratio of wages of all man, woman
and children are 18 : 10 : 12 respectively and
if the ratio of wages of each man, woman and
children are 6 : 5 : 3 then find the salary of a
woman per day?

T el H eefiE, siival e el i Hol HEm 18 © |
3= wfafe #m w0 & o 4000 w3 e § 1 =fs weft
STErHE, STRal qen ol o a9 1 ST SFEW: 18 : 10 ¢
12 % 1R afe g o), $TRa qo o= % Sd 1 3T
6:5: 3%, dl I BT T ST ol it oo feha g ?
(A) 400 (B) %250 (C) %150 (D) %120
In a factory, number of woman and children
are equal. Woman work for 6 hours a day and
child for 4 hours a day. At the time of festival,
the work get increased by 50%, by govt rules a
child cannot work more than 6 hours a day. If
their efficiency are equal and the additional
work is done by woman then the additional
hours woman work for a day will be—

T el H, Afgestt aon a=t S HE s § | AfEen
T T o 6 =0 o Lt § iR 9= T & o 4 902 %M
T € | ST % AT S B IR 50% ¢ Sl §, TRl
7o ==l 1 U 5 H 6 5ve 9 e s XA &t STgHf
& = | AfE STRT T SR & AR e e wigaedt
g fepa STy, ar Afeerst gr i fera il w1 stfafisr
THA AN ?

(A) 4 B) 9

(C) 5 (D) 3

The average daily income of 7 men, 11 women
and 2 boys is ¥ 257.50. If the average daily
income of the men is Rs.10 more than that of
women and the average daily income of the
women is ¥ 10 more than that of boys, the av-
erage daily income of a man is—

7 7o, 11 feri 3R 2 wei ot sia 2w s % 257.50
F 19t geui wht sfrea S o1 Tl i sitea S s @
710 31ferk 21 IR foal st ofrra ek o1 Trehl @it sira
R o1 | 310 efern g1, o SRy o U 7o @i sired

e o1 fepat & 2
(A) T 277.5 (B) T 250
(C) X 265 (D) T 257

20 men, 35 women and 20 children together
complete a work in 6 days. 10 men and 30
women together complete the same work in
10 days, 20 wemen and 20 children together
complete the work in 15 days. In how many
days 30 men, 15 women and 30 children to-
gether can complete the work.

18.

19.

20.

20 %, 35 AfET TR 20 s=dt TRt 6 foi & Tk =M qu
FA T 110 JeT AR 30 Afsed faeet 10 foai & wer & &
T R E, 20 e ST 20 A faerRt 15 ot H wm
T & 130 789, 15 Afed 1Y 30 s Tk T faerss wm

=1 forae el A U gk € 2
(A) 7 days / &= (B) 6 days / f&
(C) 4 days / f& (D) 8 days / &=

6 men can complete a piece of work in 12 days.
8 women can complete the same piece of work
in 18 days whereas 18 children can complete
the piece of work in 10 days. 4 men, 12 women
and 20 children work together for 2 days. If
only men were to complete the remaining work
in 1 day how many men would be required
totally?

6 STCH Tk T i 12 Tl & T e ek ¥ | 8 oo ww
o1 1 18 TorT & T A Tl €, S 18 =8 U HH
10 feAl & o0 2 Teha ¥ 14 g, 12 Afsad o7 20 o= 2
Terl & 70 ek 12 =18 hLal © | TS Sharet gest bl 1 e |
SIS SR 0 AT €, <1 ohe qel whi STargeehar gt ?

(A) 36 (B) 32

(C) 15 (D) 40

Three men and 4 women can do a work in 7
days, whereas 2 men and 1 women can do it

in 14 days.seven women will complete the
same work in. (CGL Mains 2019)

0 7o SR 4 Hieen fwet wEf w7 oA H W wd €,
Saifer 2 7ew iR 1 Afeen 36 wE #1114 fea H wawd ¥ 1

1 i SE wE @l frad i § qu i ?
(A) 10 days/f&A (B) 12 days/feH
(C) 9 days/feA (D) 8 days/fea

Two men and 7 women can complete a work
in 28 days, whereas 6 men and 16 women
can do the same work in 11 days. In how many
days will 5 men and 4 women, working to-
gether, complete the same work? (CGL Mains
2019)

T gE 3R 7 wfeen foret e i 28 e # g e wehd §
eIk 6 TET TR 16 Afeemd 4t wE w1 1 A F qu w=
THhd & 5 76T iR 4 Aieend wwHEe fiernt SH #E @

o ol & qu i ?
(A) 18 (B) 14
(C) 22 (D) 20
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Solutions

=

4.

5.

(D) Sm x 6 =10w x 5
3m= 5w
(5w + 3m)D = 5m x 6
(5x3+3x5D=5x5x%x6
30D =5%x5x6
D =5 days
) 3,+5)8=(2_ +7) 12
40, = 84,
10, = 21_

=

c (Bm+4w)7
© 3780

(1lm+13m)8
15040

(11m + 13w)
1880

3m + 4w
540

3m + 4w B 1lm + 13w
27 94
282m + 376 w = 297m + 351w
15m = 25w
3m = 5w

(3m + 4w)7
3780

(7m+ 9W)D
12400

(35+27)D  (15+12)7
12400 3780

62 xD
1240

days
(D) (2,, +45) x 10 = (4, +5,)6
=20, + 40, = 24, + 30,
=2,=5,
=>M:B=5:2

27Tx7
378

10

B) (1 +3,+4,)96=(2_+8,)80=2_ +3)
120
After solving

2m = 3w ...(i)
2B = m  ..(i)
4B = 3w ...(ii)
(2_+8,)80 = (5_+12)x
= 6_x80 = 11_xx

6.

7.

_ @_ 431 h
= X = 11 11 ours
Second method
ATQ,
2m + 8b — 80
3 1m+4b 160
5 1m+4b+3w 96 480
4 2m+3w 120

2

So, Eff. of 3w = 2:>1W=g
2m = 2 => 1m=1

4b = 2 1b = 1

= 2= -5

So, required time

480
= m = 480 =431 hours
2 11 11
(B) ATQ,
W C
6 4 4
12 12 9
= Eff. 6 : 4 3
So,

(8X6+6%x4)x8% 15 = (2x6+3x4+4x3)x6xx

_ 72x8x15
~ 36x6
(A) Let Man-M, Woman-W and Boy- B

= 8W = 6M =12B

= 4W = 3M =6B

=12M + 12W + 12B =12M + 9M + 6M = 27M

So, 27Mx8xD = OM x6 % 6

=X =40 days

1
= D = 15 days
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Mother's Arithmetic ¢ Time & Work

8. (C) let efficiency of A = x

9.(4)

and efficiency of b = y
ATQ,
aT

®+y) T=xx 7"

= 5x + 5y = 9x

x_5 :
= y—4 ...(0)

let B takes P% more time

100+p}

So, (5+4) T = 4T[ 100

=225=100+p
= p% =125%
So,
B alone will take 125% more time than work-
ing together with A to complete W, work.
25 men and 15 women can complete, a piece
of work in 12 days.
2

Work done by them in 8 days = -3

Remaining work is completed by 25 men in

6 days.

Time taken by 25 men to complete the whole
work = 3 x 6 = 18 days

Time taken by 15 women to complete the
whole work

_ 1 _ 1
1 1 3-2
12 16 36

=309 - 36 days

10.(C) 12 children x 16 days = 192 days, so each

kid does 1/192 of the job per day.

8 adults x 12 days = 96 days, so each adult
does 1/96 of the job per day, or DOUBLE the
rate of each kid.

From here :

first 3 days :

W=3x(1/96) x 16 =>48/96 => 1/2

so we have 1/2 of the job left. Now

W=1/2

R=6x(1/96) + 4(1/192)

T=t

1/2=(6/96 + 4/192) x t

6=t

11.B) 5 15 women 12
6 16 wen 10 > 60

Work in 2 days = (5+6) =11
Work in 10 days = 11 x 5 =255
Remaining work = 60 -55 =15

S
Required Time = 5 days

S S
So, Total time = 10 +€:10€ days
12. (C) ATQ,
12m x 4 = 15w x 4
= m i w
S : 4

Total work = 12 x 5 x 4 = 240
Remaining work = 240 — (6x5%x2) = 180

. 180
Required women = 3xd 15 women

13. (D) ATQM:W:C=5:4:2

Men Work Time
2x5+3x4+2x4) 10 10
6x5+4x4+7x2) 16 X

= (10+12+8)x16x10 = (30+16+14)x10xx
= 30x16x10 = 60 x 10 x x

= x = 8 days
14. (B) total salary = 4000
0
women’s salary = 20 x 10 = 1000
e 18,10 12
ratio of employees = 6 5 3
=3:2:4

number of women in factory

18
= — x2=4

1000
woman’s share =T =3 250
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Mother's (IO« a9d 3R BrRf

15. (D) Let 1 woman plant 1 tree in an hour
Let woman and chidren be x
and efficiency of woman = efficiency of child
=1 tree

work of woman initially = 6x x = 6x tree
work of children initially = 4xx = 4x tree
total work initially = 6x + 4x = 10x tree

10xx 150
100

If work done by children for 6 hours then = 6x
tree

Now, work in festival = =15X tree

Remaining work is done by woman

=15x - 6x = 9x tree

Ix —6x

= Additional time by woman = =3 hour

16. (C) 7m + 11w + 2B = 257.50 x 20 = 5150 ..... (i)

[Average daily income of man, woman and
boy are m, w and b, repectively]
from equation (i), (ii) and (iii)

m = 265

17.(B) Let efficiency of each men, women and child
ismy w, c
= Total work = 6(20m + 35w + 20c¢)
= 10(10m +30w) = 15(20w + 20c)

By solving
m ; W :
efficiency 3 : 2 : 1
So, total work = 150 x 6
150 x 6

Time Required = 35,3715 %2+ 30 x1)
= 6 days

18.(A) Let efficiency of each men, women and child

ism, w, c
= Total work = 6m x 12 = 8w x 18 = 18c x 10
= m : W : C
10 : 5 : 4
So,

Total work = 720

work in 2 days = 2(4x10+12x5+20x4) = 360
Remaining work = 360

= xx 10 x1=360

= x = 36 men

19. (4) (Bm +4w) 7 = 2m + w)l4
3m + 4w = 4m + 2w
m= 2w
m 2
w1
7w x D= (3m + 4w) x 7
7TxD=(6+4)x7
D =10
20. (C) (2m + 7w) x28 = (bm + 16w) x 11
= (5m + 4w) xx
10m = 20w
m 2
w1

(12 +16)11 = (10 + 4) x
28 x 11 = 14yx
x =22
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